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QUESTION 1

What is the implicitly created column in a base table which contains an XML column called?
A. Node ID

B. ROWID

C.LOCATOR

D. DOCID

Correct Answer: B

QUESTION 2

Given the following: Which of the following occurs automatically when rows are deleted from POLICY_INFO_AET?

CREATE TABLE POLICY INFO AET
(POLICY_ID CHAR(10) NOT NULL,
COVERAGE INT NOT NULL):

CREATE TABLE POLICY INFO_ARGC
(POLICY_ID CHAR(10) NOT NULL,
COVERAGE INT NOT NULL);

AL TER TABLE POLICY_INFO_AET ENABLE ARCHIVE USE POLICY_INFO_ARC;

SET SYSIBMADM.MOVE_TO_ARCHIVE =Y,

A. The deleted rows are moved from POLICY_INFO_AET table to POLICY_INFO_ARC table

B. The logically deleted rows are removed from POLICY_INFO_ARC table during the REORG

C. The deleted rows are removed from both POLICY_INFO_AET and POLICY_INFO_ARC tables

D. The deleted rows are moved from POLICY_INFO_AET table to POLICY_INFO_ARC table during the REORG

Correct Answer: D

QUESTION 3
Which of the following SELECT statements returns a different data value than the other SQL statements?

A. SELECT MONTH (CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1,
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B. SELECT EXTRACT(MONTH FROM CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1;

C. SELECT LPAD(LTRIM(SUBSTR(CHAR(CURRENT TIMESTAMP(10)),6,2),\WO\'),11,\\\\) FROM
SYSIBM.SYSDUMMY1;

D. SELECT TIMESTAMPDIFF(64, CHAR(CURRENT TIMESTAMP ?TIMESTAMP("2016-01-0100.00.00\\'))) FROM
SYSIBM.SYSDUMMY1,

Correct Answer: D

QUESTION 4

Which of the following describes OLTP workload rather than an analytics workload?
A. Extreme data volume

B. Temporary or intermediate staging of data

C. Set-oriented processing and bulk operations

D. A large number of short, discrete, atomic transactions

Correct Answer: D

Reference: http://www.ibmbigdatahub.com/sites/default/files/document/IBM-Netezza-Understanding-Analytic-Workloads-
eBook.pdf

QUESTION 5

Which of the following are advantages of DB2 for z/OS data sharing over a standalone DB2 subsystem implementation?
(Choose two.)

A. Reduced active logs

B. Reduced storage use

C. Higher transaction rates
D. Reduced lock contention
E. Increased data availability

Correct Answer: CE
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